AP Calculus AB
Unit 6 ~ Day 2 — Assignment

Name: A\(\S\DPY \{Qtl\)k

Given below is a table of function values of A(x). Approximate edach of the following definite
integrals using the indicated Riemann or Trapezoidal sum, using the indicated subintervals of

equal [ength.
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2. J.h(x)dx using three subintervals and a
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Right Hand Riemann sum.
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Midpoint Riemann sum.
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Trapezoidal sum.
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5. jh(x)dx using six subintervals and a Trapezoidal sum.
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6. Approximate (236 sin x)dx using four subintervals of equal length and a Right Hand
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8. Given the table to the right, x = 0 ]) 3 ) 8 3\)
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.[P (x)dx using three subintervals
-2

and a Midpoint Riemann sum.
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and a Trapezoidal sum.
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